y Greatest Common Factor

Factor the GCF out of an Expression

4x* 8 ¢
1 t3.a4 4&«2}
4 X. 2 z4x+8
Skill #2 - Factoring with a Coefficlent of a
3
2x +x-6 -3xd=-12

Find factors of - 12 thataddupto 1 | - 4 4 4= | 2+

1. Take the two numbers 5 wnd 4, and put them, complete
1 with sigos and variables, in the diagonal corners, ke this:

2
2x ‘-‘x 1 does mot matter which
way you da the diagonal
4x -6 antries’

e of Squares

ek

coefficient: 4 9
~ varigble: X  none

a2 J5=3

6x-9 = 4x'-9
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18k* + 12k3 — 9k?

_3__\8((.?:, Hk - 3)

" Facto
Fac tormg out a Greatest Common Factor
3t is the greatest common monomial factor of

D,‘\ SIMIAL

2. Whal:isthegreat:estcommonmonomialfaCl’m'Of
16x — 4x?

A% (1 -x)

&.J

4. When completely factored, write an expression
that is equivalent to

Sx + 40 3y’ bas
1( +Z)
Ixy (Xt £y
o (IXL — AA.1 and AA.2
3 Coeffi clent of 1
6. What are the factors of

ctors of
x2+5x—24

-24:-3'8
(X-S)(X"B) £= -3+®

R S T X
(x+1)(%x+5) s ek

8.wmd\ofthefollowing‘§'safa'§t0fof

x*—14x+45  ¥=-1-S

-M= -9+-§




¥ _Factoring with a Coeffic
10 \\ -~ . efr
1C . hat are the fa icient of a

-8y T §5=-5-3
-5 -p=-5+-3
-5y | &

S

! 1\[(35'57(‘3"3

&

11. What are the fa

2 +8x

2x 3
2x [ 4} X
| {2<] 3

«

r

= 12~G@-2
8 G+

Tk

(2x+) (2x+3)

it is the completely factored form of the

13. Which of the following is a factor of

Ng expression?
S -Gy 18t -9:2 Groly o
- s - & bf-
fca bR e & 2
_ 3h|3h|-9h| < A2k — 1 2k 2K |6k | <
)+ 3) _Té- .?(k-i-l))
g; Z [2h .T C(k-3) -l {-lk]|-3|<
1+ D (2k - 3) T 1
+3)
 (3)Ghe?) (2k-1)(k+3)
of the following that are factors of the given polynomial B
E Gy +4x -2
GCF _
2 (Bx* + 2% =3 = B+l
2= 3F

Z,(Sx-l\(xf\)




hen factored completely, the following equals
b(b +3) - 4(b +3)

(b+3)(o-4)

16. When factored completely, the following equals
2x(x = 2) +9(x = 2)

(x-2) (2%14)

A(2x +9)(x+2)

B (9x +9)(x — 2)
2x+9)(x - 2)
2x(x —2)

‘& Need more practice (IXL - AA.7)

toring Difference of Squares
ored completely, the following is equal

x2 —49

[+ x-"D)

& Factor a four term polynomial with grouping method

18. When factored completely, the following is equal

to:
IZZ&-‘I)—('ZKqu

d completely, the following is equal

18x% — 200

<

.‘/:" X Z. )00
(3x-10)(3x+19)

20. When factored completely, the following is equal
to:

5x% — 180

S(x*-3)
S'(x-h\(xrin)l




3 i
7x? + 145+ TX -1
2=+l

7x(xl'f’ fo’l)

24. What are the factors of

(2x* —4x) f 3x - 6)

2(x-2) + 3( *-)

I
sl -z,'(r (2"1"'3) (X'?->
K Lﬁ‘?x ( xtl
& the factors of 26. What are the factors of
m ~0=-I1S-Y 4x? + ]2x =40 oAl
Ex -S -nz-Is+4 q(x"-l-%x '?0) -':::gf-‘l
315k | & Y(x+5)(x-D
.q* 20| &
TT (se)S)
 factors of 28. What are the factors of
X2 +15x+56  HL= 9 (1813 + 30x9+Qx + s)
7 Is = 811 :
+(x+7) 5 s 3%+ 5) # 1(3xt5; )

ol

@xﬂ‘)( ex?+1)

i |

~ |[30- What are the factors of

e, 169x% — 196
B (a-14) ( '?X*’ﬂ
¥ A ¥

= 3




